XYZ,=95.04,100.0, 108.89 —74 Parameter: LVTAT =L* -50 74 XYZ,=96.42,100.0, 82.49 —74 Parameter: LvTAr =L* ,5074
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L* 5 =50 + 50[&+e)/[e*+€] h ) A =50 + 50[&+e”)/[e*+€] 1 )
Y,=Y/18, x= log[Y,] 1 Y = /15, = log[Y,] 1

Llchlarl D65, Y —720 Y=4.5 Llchtan D50, Y 72 0 Y =4. 5

Name Bereich X NN A a b, g A B, Cuol Y, Lge Lo Ly Ly, |NameBereich x a, A, B, Cua, Y, Uee Uoy Ui U
R 5677754007 27.07 4.43 0,559 0378596 4891189 -0.052 0.645 387 200 436 27 15 90 96 1 R, 570,775 332 2834 237 0577 0377598 4611257 -0047 0,645 410 260 457 25 157103 108 1
493 7755069 61.31 851 0.42 0508570 4630.61 -0.044 0304 08 466 466 91 34 325 333 30l 496_77554.39 6117 593 0447 0.503573 4680.67 -0.038 0291 20 445 445 87 339 324 333 30jd]
X 493567 14.47 38.28 8.48 0.236 0.625535 5350.202 ~0.07 0.498 -39.6 265 47.7 146 212 18.2 189 1t GD 496_570 14.96 36.87 59 0.250 0638538 5380.233 -0.064 0.5 -390 245 46.1 147 2.04 171 17.8 1

380567 25.36 41.77 7053 0.184 0.303489 5960.244 ~0.54 0,418 ~38.7 200 43.6 207 2.32 20.7 2.4 2{IC. 380570 23.06 40.5 53.42 0.197 0.346491 5980251 -0.527 0.451 ~41.0 ~20.0 45.7 205 225 19.8 205 2
B) 380 493 14.73 753 66.450.166 0.084463 570066 -282 2472 0.8 -466 466 271 0.41 -1626168.]]8’ 380 496 11.99 767 5086017 0108468 5730552 -265 2323 -20 -44.5 445 267 0.42 ~16H 16T
M 567493 50.96 30.56 66.48 0.344 0.2065350535 1.134 -0.696 0.624 39.6 26,5 47.7 326 169 121 127 13|’ 570_496 51.41 31.97 50,89 0.382 0.238538c5381.146 ~0.636 0,577 390 -24.5 46.1 327 177 133 139 1
W, 380775 68.43 720 78.4 0312 0.329 72% 0616 -0.348 001 00 00 00 0 40 379 388 34|W;380 7756942 720 59390345 0.358 72% 0657 -0.329 001 00 00 00 0 40 379 388 34
N, 380 775427 45 49 03120320 4% 0616 -0348 001 00 00 00 180 025 -24-B4a426d|N; 380 775433 45 371 03450358 4% 0657 0329 001 00 00 00 180 0.25 ~24-B4-24-25.
U; 380_775 171 180 196 0.312 0.329 18% 0616 -0.348 001 00 00 00 180 10 -0.4 00 00|fu] 380 775 17.35 180 14840345 0358 18% 0657 0329 001 00 00 00 192 10 -0.4 00

20,
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XYZ,,=100.93 , 100.0,, 64.68 74 Parameter: Crar—L*. —5074 |[XYZ,=109.84,99.99,3558  —74 Parameter: L rar=L*~. —5074
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A=2560,-3,)Y I L*7ar &Name | 50 TAr ' I L*rar &Name | 50 TAr '
Y,=Y/18, ! Y,=V/18, !
L'=L*—50 40 ey 80Y

1, by, a,=1,b,=-04
><—0110B—1300 x—DllDB—ZSOU
[Az,BE]nz =[A2+B 5]1/2
SOstwaIdFarben 0),.Cp,
Farbenraum (CAB‘Q,XL T,)},)
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L*; 5 =50 + 50[é+e)/[e"+]
Y,=Y/18, x= log[Y,]
Llchlan P40, Y 72 O Yy 4 5
Name Bereich X oA & b A, By Cus ¥, Uoe Ugy Uny Uy |Name Bereich aoA g 1 ce Vew Uiy Ura
R, 573775 46.72 20.04 264 0508 055 oo 4531551 00k o6t 431 S0 d00 25 1ot 108 1141 R, 5ro_17s sa7 3038 145 028 0akaots 91440 -00k0 0o 4he 1 a0 2 L er 1 124 s
498_77550.11 61.97 508 0.468 0491576 4680.729 ~0.042 0294 19 455 455 87 3.44 32.9 33.7 3|V’ 504 775 67.91 6235 2.86 051 0468581 4740.854 -0.045 0311 4.0 483 48.4 85 3.46 331 339 3
o0 4067573 1647 657 505 0201 0.631540 SH0D 272 0071 0518 4L1 245 479 10 205 172 170 1]|GT S04Te7D 1038 675 283 0.3 061N SHTHIT 00T 0546 426 751 404 140 201 166 173 1
c 380 573 22.76 30.8 41.89 0.217 0381493 6000283 ~0.547 0.482 ~43.1 -20.9 48.0 205 221 193 20.0 14|C’ 380 579 22.65 38.66 23.030.268 0.458499 6050345 ~0.595 0539 ~46.6 -23.1 52.0 206 2.14 185 19.2 1
6° 380 498 10.37 6.67 30.45 0.182 0121468 5760.601 ~2.983 2.649 ~19 -45.5 45.5 267 038 -1628.91818. {8 380504 7.71 6.49 21.630.215 0.181474 5810.581 -3332 2.986 -4.0 -48.3 48.4 265 0.36 ~1975.31970.
M 573 498 53.01 3187 39.47 0.426 0.25654005401.234 ~0.644 0.601 411 245 479 320 177 132 138 14| 579 504 56.24 32.62 21,66 0.508 0.295547c547 1.351 -0.664 0,606 42.6 -25.1 49.4 329 181 138 145 1.
W' 380 775 72.67 720 46570379 0.376 72% 0717 -0.336 001 00 00 00 0 40 37.9 388 34{W]380 77570.00 7199 25610447 0.407 72% 0828 0.35 001 00 00 00 0 40 37.9 388 34
N,'380 775 454 45 291 0379 0376 4% 0717 -0336 001 00 00 00 180 025 -24-B+24264|N 380 775494 449 16 0447 0407 4% 0828 -0.355 001 00 00 00 180 025 -24-B4-24-A6.

U; 380775 18.16 180 11640379 0376 18% 0717 -0336 001 00 00 00 180 10 -04 00 0l|uj 3807751977 17.99 6.4 0.447 0.407 18% 0.828 -0.35 0.01 0.0 00 0.0 180 10 -04 00 0|
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